Day 10 - Review.notebook December 15, 2016

Real Life Situations!
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Y=mx+b
s I o m | - Cost per hour, Cost per Km, Cost per
p - picture, etc.....

- t t b Initial cost, base rate, initial fee,
y-l n e p - ﬂat rate, sitting fee, starting cost

i 3
x 1 Number of kilometers, Number of hours, Number of pictures,
etc....

R 1
y mm Total Cost $3$$8, Total Earned $$$



Day 10 - Review.notebook December 15, 2016




Day 10 - Review.notebook December 15, 2016

Laura babysists on the weekend to make extra money. She
charges $15 as a flat rate and then $5 every hour.

Graph  m=95 :\’\sa}
ost, Y b=15 Ul'l‘:)Ye(CQ ) B Equation

4

'3 3949 S6 713 9% 1\ Q‘\N\
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Laura babysits on the weekend b=15
to make extra money. She charges

$15 as a flat rate and then $5 m =3
every hour. x = # of hours

y- Sx 415 y = Total Cost $$

1. How much would it cost to have Laura babysit for 3 hours?

Y= 6(3)+\S: A=5

=\t \D B woul) Coer &S\S thﬁ
Y =t?>OJ ’fg\\hd:vreg,(-mfa it Jof

2. How many hours could you have Laura babysit for if you had $45?

452 5x419) =35

1526 Lowa cald eyt
bhes.

30 = S5x
S S
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A photographer charges

sitting fee of $10 and $5
for every photograph
ordered.

M=
b= 10
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A photographer charges a sitting fee of $10 and $5 for every

photograph ordered.

1

Gr%],ah m=5 %\S

b =10 (3— H\\«Cefb
|

Equation

Co
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1233 4 56788 lou WJ&O
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A photographer charges a sitting fee of $10
and $5 for every photograph ordered.

\*j: OX + \O
1. How many photographs could you get for $35?
35 -l0= 5% Oun (o %‘A 35 P\r\o\’os

S
[5=Xi

2. How much would it cost for 8 photographs?

= D) +10 b
J 1+ wéu\() Q;SJT ‘tSO SU

% p\r\ajroﬂ,
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wak
@ Wow much will Nlicig make & she P\c\\js
Lﬂ_ 50“35' (X:qh
. o= 1\ b: « — MNXA b
3:\\ *60
3=U@D*63
5: L‘S‘ ‘V%
us-—ﬂSn
A Hoo man\\} onﬂmm(emeq*s, wl“ Oﬁ'\\'ﬁ( \)“j‘ on
S Biﬁ- Cb;ac@
3D, m=30 b2 o) VIR
5:%7(1’?1)
8502 X
-0 = 0%
090 = 90X
3Q 30

3\\9 Cdk\c\ 525 \\ o«\(\c\.ncemenxs Sor 3360,



Day 10 - Review.notebook

A taxi driver charges a flat fee of $25 and then $1 for every km travel

December 15, 2016
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A taxi driver charges a flat fee of $25 and then $1 for every km

traveled.
r1se .
Graph ™= | (2 Equation

y b:/95 (3- uf\ltrcep_‘\’ )
|

X
I 393 43 67 8% 10V 6/“‘\)
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A taxi driver charges a flat fee of $25
and then $1 for every km traveled.

J: \X +09

1. How far can you travel for $752(y= 15)
\(j:: X—\-—a%

NS
—\5 E)cm @GN Jh’os\rﬁ\ 30 Km.

2. How much would it cost to travel 60 km?(x=€0)

Y= X+35

= &0 35
‘\\:1%5 T woondd st ‘ﬁga
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What are you
charging to
tutor me?

Write the scenario that would represent the equation.

b e =13 (b)
?z( \YM (é&: 3 6 (m)

13
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Which of the following equations is a reasonable
representation of the cost of raking leaves.

14
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Homework

December 15, 2016
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’—\_QS‘\_ on F.|Joij
@ F‘“a\'\j S\OQQ. '- M = D;SI oc ™M= Vs
Xo X

un

® rPc\(o\uQ\.- (Samq Slo‘aq - m:—'; mi= 5

?Qr ?Qn(\\C\..\\N' (Owost\ﬁ Q\cc.\procq\s) S M= Ls mL—«A‘

@ F"\cs'l"\j \‘\
O 9= mX +/_b_ m= Jlepe b= \\j—_lnjrt(ca(A'

@ Gor -\ N0 P\OJT Jﬂ\o. —w&(u& (b\
“?“ r\j Q Wse 501»\( :}Slo‘ﬂ (N\= /ﬂ_SQ) b 9\0\'

(W

O'\Lar I'\J\'§ . ]
CREN J(\‘): Po;&\s \J;\\\ a K\Va\j)\‘\ [1ng,

® Word FPeoblems -
b= bax (q\()‘s\(\\ Wlﬁ,'&’\"eh gec g,lr(.

"\~ T \-wu.( L §% \/\W\ y 9\5\0 ete
(3: h\\(‘t‘r)
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(Gl Qer\ﬂi(ul.ﬁu’ il .
runs a T-ghirt company, Tor each order she receives, Francing charges a flat fee of §30, plus'$8.85"
shitt .

Vrite an equation For the total cost, C dollars, for erdering i T-shirts. b' 50 R

. George ordered 62 T-shirts, Whal was the total cost?
ake paid a total eost of 97185, How many T-shirts did he order?

| 1_\ x;_@;) L\}: 971.%5
Dy=30r5) b g0 T = E96¢ 0

E& qu% Plgo = 8.45¢

e B
-\.L'L LaU'u_-IU LL:';J‘ Q}E) :\_'_f_,_,-ﬂ'fv

B oL M- ¢ eréa
(0t 20 f{\ﬁﬁ

December 15, 2016

22



Day 10 - Review.notebook December 15, 2016

m = Rate of Change ( Slope )

b = initial amount ( vertical intercept or y-int}

23
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